SER

o4, WENEs

LTA — BL —550 - SRCA-2 — 100

P ] — —— ] =

LTII

EgEmLEa Yo EBIELE LR,
BEXaMEEII30kgEERLELE,
BE=%1000mm/sec. &L MERODBEEF0.02mm,

[
-
I
|
|
B

VAMAMA | 3

L3

7L —%fEeE, GRAR—AFATESAFTVv T, LTAB
LTA(LTA-V) LTA-BL(LTA-BLV)
L
L - 220
ato Zka—% 90 . 180 L8 8 o J
6‘0 sMEX10 | 90 4-MEX1.0% FF&18
% I./ FUB&18 569.. l/
_j.
90__ &8
g I |
- e J — — [—
- & DI = 8
)
& 8
i
B A @ | | g
0 ) —— . ——% 0%
A\
60
180 60X (N-1) -8 .60, \A
. = K(N-1 S
5 BERR UL UM B % S0 (1 470 A - BaSFHE |20 S
ZhE=%|150/] 250 | 350" | 450 |550][650!| 750 | 850 | 950 | 1050 Zho=7] 1502501 |50 | 4501|1660 | 650 | 750 | 850 | 950:[1050
L | 550|650 | 750 | 850 | 950 [1050(1150]1250]1350(1450 L | 390|490 |590 | 630 | 790 | 890 | 990 1090 1190[1290
N 6 | 8 | 9 |11 [13 |14 | 16|18 | 19| 21 | N 5 | 7 | 8 [10 |12 |13 [ 15[ 17 ] 18] 20|
S | 60 |40 |80 | 60 | 40 | 80 | 60 | 40 | 80 [ 6O s | 60|40 |80 | 60 | 40 | 80 [ 60 [ 40 | 80 | 60
HEkg| 6.4 | 7.2 | 7.9 | 87 | 95 [10.2[11.0[11.7]125]13.2 Bekg| 6.7 |75 |82 |90 | 98 [105[11.3[12.0[12.8[135
#1050mm A k0O — 2 RS EB00mm/sec #1050mm A b B — 7 [ S#EB00mm/sec
®EEHEMAA PO— 7 EBAES0mmME THIG. HEEEAZ O — 7 ERABS0MME TG,
14

0




